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CPE-1 Revision Worksheet
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Q.No. 
 Choose the correct answer
1 Difference of any two negative integers is 

a) Negative    b) positive   c) can be positive or negative   
d) 0 

2 Sum of two negative
a) Negative    b) positive   c) can be positive or negative   

d) 0 
3 For any two integers a and b, 

a) –a+b  b) a+(-b)   c) (
 Write the following sentences are true or false
4 -1 is the smallest negative integer
5 -100 is the greatest 
 
6 
7 
8 
9 

Match the following
(-500) + (-150)          a)   350
(-500) + (150)           b)  
500 – ( - 150)            c)  
500 + (-150)          

 Fill in the blanks 
10 9987667 ÷ 0 =  ____________
11 0 ÷ 9454654 = _____________

 12 
 

Use the sign of >, < or = in the box to make the statements 
true. 

 Answer the following 
13 32 – (3 × 5) 20 - [20 - {10 
14 3 – 20 - [20 - {10 -(7-5-3)
15 20 - [20 - {10 -(7-5-3)}+16 
 Answer the following 

16 In a quiz, team A scored 
− 40 in three successive rounds. Which team scored more? 
Can we say that we can add integers in any order
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Questions 
Choose the correct answer 

of any two negative integers is  
positive   c) can be positive or negative   

of two negative integers is  
Negative    b) positive   c) can be positive or negative   

For any two integers a and b, -a-b= ? 
b)   c) (-a)+(-b)   d) –a-b 

following sentences are true or false 
negative integer 

 negative 3 digit number 
Match the following 

150)          a)   350    
) + (150)           b)  -650   

150)            c)  -350 
150)              d)  650 

0 =  _____________ 
= _____________ 

Use the sign of >, < or = in the box to make the statements 

 
Answer the following  

{10 -(7-5-3)}+ 4 
3)}+ (5 – 6 ÷ 3) 
16 + 8 ÷ 4 – 2 × 3 

Answer the following  
In a quiz, team A scored − 40, 10, 0 and team B scored 10, 0 

40 in three successive rounds. Which team scored more? 
Can we say that we can add integers in any order? 

Marks:20 
Time:50 minutes 

Section: 

Mark 
 

positive   c) can be positive or negative   
1 

Negative    b) positive   c) can be positive or negative   
1 

1 

 
1 
1 
 

1 
1 
1 
1 
 

1 
1 

Use the sign of >, < or = in the box to make the statements 4 

 
1 
1 
1 
 

− 40, 10, 0 and team B scored 10, 0 2 


